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For 1-2: Which ordered pair is not a solution for the equation given?
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Determine the slope of the line that passes through each pair of points. m= Iﬂi_E_-_ m = ‘51“6!
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Solve the equation for y. Name the slope of the line.
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13. Using the equation given, fill in the table and draw the graph.
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Determine the value of ¥ 5o the line that passes through each pair of points has the given slope.
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16.If f(x)=%x2+8x,what is the value of f(6)?
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For 19-20: Determine the independent and dependent variable in each situation.

19. The number of gum balls, g, that can be 20. Jake works as a sales representative. He
packaged in a box with a volume of V' cubic earns $1,275 per month plus an 8%
units is given by| g = 40F +15 commission on his total sales.
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21. Describe the change of the graph of 22. A horizontal line has \/ slope.
y = x if the equation changes to y=3x+5.
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24. The annual production of a farm crop is modeled by %= %x +4000. If the model is changed to

Vy=X+ 4000 , the production will:
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decrease at the same rate

increase at double the original rate
increase at ¥z the original rate
decrease at double the original rate

25. Leslie and her cousin went to a restaurant for dinner. Leslie’s dinner cost $5 more than her
cousin’s. If their combined bill was under $25, which inequality best describes the cost of their
dinners?

Leslie & cousin <25
(5x) + x £25

A x-(x+5)<25
B x+5<25x

C x+(x+25)<5
D x+(x+5)<25

26. The late fee for overdue books at a library is $0.25 per day per book, with a maximum late fee
of $5.00 per book. Which graph models the total late fee fo s that were checked out on the

same day and are overdue?

rFeesfor Overdue Books " Fees for Overdue Books \ da\ﬁ -
& - . - Iy . .
; s . . + . z‘l‘—, s ' 4 4 -
el | - . .
\ E" - 4 | AE ) ® ) - $D -q‘%
.«'(s: : T e ! ) @ 2w 14 | T, - - ¢ °
o 381 | 2=y PO | . Jfy o) ! | g JT | P S } :
L el . x
o 12 34 5678 % W0 0O 1 2 3 4 5 67 8 90
Days Overdue Days Overdue
" Feas far Overdue Books " Fees for Overdue Books
. ql : — | L
L. EEEEDE. ., | ¢
X&T » +—1 . * e D )% 3 9
@ 2 ot VAR ¢
L & b4 = .
-t ° | = -1 [ ]
T Iy s ST e oW " T T s daseT o0
Days Overdue Days Ovenjye




